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𝑥2 + 4|𝑥| − 4 = 0

4 −4

−4(√2 − 1)2 4(√2 − 1)2

𝑥12 (𝑥3 + 1)𝑚 𝑥15

α. Let Sn 

denote the sum of the first n terms of this arithmetic progression and let 
𝑆𝑚

𝑆𝑛
 = 

𝑚2

𝑛2  

for 𝑚 ≠ 𝑛. Then the 50th term is 

50 α             99 α 100 α 250 α  

 

1

5
(2150 − 1)

1

12
(2150 − 1)

1

5
(21100 − 1)

1

20
(21100 − 1)

4 sin2 𝑥 − 4 cos2 𝑥 = 1

[0, 2𝜋]

𝜋

3

5𝜋

3
𝜋 2𝜋
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

17

25
8

25

𝑥 + 𝑦 + 𝑘𝑧 = 1 
𝑥 + 𝑘𝑦 + 𝑧 = 1 
𝑘𝑥 + 𝑦 + 𝑧 = 1

4sin 𝑥 + 4cos 𝑥 ℝ

1

2√2
21−√2 2 4

∑
𝑛𝐶0

+ 𝑛𝐶1
+ ⋯ + 𝑛𝐶𝑛

𝑛𝑃𝑛

∞

𝑛=0

2𝑒 − 1  𝑒2 − 1 𝑒2 + 1 𝑒2

𝑓(𝑥) = |
cos 𝑥 𝑥 1

2 sin 𝑥 𝑥2 2𝑥
tan 𝑥 𝑥 2

|,  (−
𝜋

2
,

𝜋

2
)

lim
𝑥⟶0

𝑓(𝑥)

𝑥2



PGDBA 2016 

 

Page 12/14 
 

𝑃 = [
2 α 3

−α 2 0
3 −2 α

] α

det(𝑎𝑑𝑗 (𝑃−1))

1

49
−

1

7
−7

𝑓(𝑥) = lim
𝑛→∞

𝑥

𝑛
(

1

1+𝑒
−

𝑥
𝑛

+
1

1+𝑒
−

2𝑥
𝑛

+ ⋯ +
1

1+𝑒−𝑥)

lim
𝑥→0

(
2𝑓(𝑥)−𝑥

𝑥2
)

 0
1

8

1

4

1

2

𝑦 =
3

2
√𝑥 𝑥 ≥ 0 𝑥 − 1 = 0 𝑥 − 4 = 0

ℜ 𝑦 = 𝑚𝑥 ℜ

1

3
 
2

5
 

6

17
 

7

15

[𝑎] 𝑎 ∈ ℝ

∫ [𝑥2]𝑑𝑥
1.7

0

2.4 + √2 2.4 − √2 2.4 +
1

√2
2.4 −

1

√2

𝑥 = 0

𝑒−|𝑥| − |𝑥| 𝑒|𝑥| + |𝑥|

|𝑥| − 𝑒|𝑥| |𝑥| − 𝑒−|𝑥|
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𝑓(𝑥) = {
𝑥 + 𝑥2 sin (

𝜋

𝑥
) , 𝑥 ≠ 0

0, 𝑥 = 0

(𝑓′(1) − 𝑓′(0))

0 1 𝜋 −𝜋

𝑓(𝑥) = {
−(𝑥 − 1)4, 𝑥 ≤ 2

(𝑥 − 3)3, 𝑥 > 2

√(𝑥 − 1)2 + (𝑦 + 2)2 = √(𝑥 + 3)2 + (𝑦 − 2)2

𝑥2 − 7𝑥 + 6 = 0 𝑦2 − 14𝑦 + 40 = 0

𝑦2 − 14𝑦 + 40 = 0 𝑥2 − 7𝑥 + 6 = 0

11√5 5√11 7√11 3√5

𝑦2 = 4𝑥

(9, −6)

√13 √15 √17 √21
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𝑓: ℝ → ℝ 𝑓(𝑥) + 𝑓(3 − 𝑥) = 4

∫ 𝑓(𝑥)

3

0

𝑑𝑥

3  4  6  8

PRQ = POQ

POQ = 2PSQ

OPS = OSP

PRQ = PSQ

(𝑃 ∪ 𝑄)𝐶 ∪ (𝑃𝐶 ∩ 𝑄)

𝑃𝐶 𝑄𝐶 𝑃𝐶 ∪ 𝑄𝐶 ∅


